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Read Carefully

1
Check that the answer sheet provided is for Mathematics Higher (Section A).

2
For this section of the examination you must use an HB pencil and, where necessary, an eraser.

3
Check that the answer sheet you have been given has your name, date of birth, SCN (Scottish Candidate Number) and Centre Name printed on it.

4
If any of this information is wrong, tell the invigilator immediately.

5
If this information is correct, print your name and seat number in the boxes provided.

6
The answer to each question is either A, B, C or D.  Decide what your answer is, then, using your pencil, put a horizontal line in the space provided (see sample question below.)

7
There is only one correct answer to each question.

8
Rough working should not be done on the answer sheet.

9
At the end of the exam, put the answer sheet for Section A inside the front cover of your answer book.

Sample Question

A curve has equation 
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What is the gradient at the point where 
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The correct answer is A – 8.  The answer A has been clearly marked in pencil with a horizontal line (see below). 

Changing an answer
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If you decide to change your answer, carefully erase your first answer and using your pencil, fill in the answer you want.  The answer below has been changed to D.
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FORMULAE LIST

Circle:

The equation 
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The equation   
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 represents a circle centre 
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Trigonometric formulae:
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Table of standard derivatives :
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Table of standard integrals : 


SECTION A

ALL questions should be attempted.

1.
If 
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2.
Vectors p is given by 
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What are the components of 
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3.
A circle has equation 
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What is the radius of this circle?
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The line with equation 
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 is parallel to the line with gradient 3.


What is the value of k?
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What is the derivative of 
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7.
A circle centre 
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What is the equation of the circle?
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8.
What is the value of 
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Which of the following describes the stationary point on the curve with equation 
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A
minimum at
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maximum at 
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10.
Here are two statements about the equation
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(1)
The roots are unequal;


(2)
The roots are irrational.


Which of the following is true?


A

Neither statement is correct.


B
Only statement (1) is correct.


C

Only statement (2) is correct.


D

Both statements are correct.
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What is the minimum value of 
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If 
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Find the radius of the circle with equation 
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For what value(s) of x is 
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The diagram shows part of the graph of the cubic 
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There are three roots at 
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 There are two stationary 
points lying between the roots.


Which diagram shows a sketch of 
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16.
The equation of the parabola shown 
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What is the value of k? 
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What is the maximum value of
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Given that  
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If 
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20.
Which diagram below shows the graph of 
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End of Section A
SECTION B

ALL questions should be attempted.

Marks

21.
(a)
(i)
Show that 
[image: image108.wmf](1)

x

+

 is a factor of 
[image: image109.wmf]32

()2356.

fxxxx

=+--




(ii)
Hence factorise 
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(b)
Given that 
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22.
(a)
Write 
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(b)
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Sketch the graph of 
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(ii)
State the range of values of y.
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(c)
Write down the maximum value of 
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23.
 The diagram shows part of the curve with equation 
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The curve passes through the points P
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 and Q
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Find the values of a and b.
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24.
(a)
Write 
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Find 
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Marks

25.
In the triangle shown
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Find 
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End of question paper
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